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int main(int argc, char
4) {
printf( );
exit(1);

}

if (argc

unsigned int first
if (first Oxcafe)
printf(

exit(2);

}

unsigned int second
if (second 5 3
printf(

exit(3);

}

if (strcmp(
printf(
exit(4);

}

printf(
unsigned int hash
printf(

printf(
return 9;
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, hash);

argv[]) {

atoi(argv([l]);
{
)5

atoi(argv([2]);
second 17 )
)

, argv[3])) {

)E

)E

31337 (second % 17)

)5

11

strlen(argv[3])

1615810207;
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int main(int argc, char *argv[]) {

if (argc 4) {
printf( )
exit(1);
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unsigned int first atoi(argv[l]);
if (first oxcafe) {
printf(
exit(2);
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unsigned int second atoi(argv([2]);
if (second % 5 E] second % 17
printf(
exit(3);
}

ftargv [2] % secondE &, ik second 5% T 3uk # second 174418, H I
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if (strcmp( , argv[3])) {
printf( )5
exit(4);
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int strcmp(const char *str1, const char *str2)
% RREOR BME R -

AR EMEANT 0, WIERIR str1 /T str2,
AR EME KT 0, WIERIR str1 KT str2,
IR FEHEST 0, NIFRIR str1 %5 T str2.
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RIEIX — B g% Sexp unsigned int hash = first * 31337 + (second % 17) * 11 + strlen(argv[3]) - 1615810207;
exp:
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a 31337 (@) 17)*11 7 -1615810207
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import base64

def encode(message):
s
for 1 in message:
(1) 32
16
(x)

return base64.b64encode(s)

if encode(flag) correct:
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def encode(message):
S
for i in message:
(1) 32
16
(x)

return base64.b64encode(s)




mport base64

correct

message=base64.b64decode(correct)

S
for i in message:
X ( (i) -16)732
(€9)

5 %flag
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